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A.  General:

This booklet is your Question Paper. Do not break the
seals of this booklet before being instructed to do so
by the invigilators.

|2 u=uz &1 $is (CODE) 39 TS & HW W B
g1

R 39 gRAH & o T (Y56 AT 44) TR BT

The question paper CODE is printed on the right hand
top corner of this sheet and on the back page (Page
No. 44) of this booklet.

3. T B & fry @rel U SR wrelt w34 gRadr
gir%‘ | ea ®1d & forg Big AfaRaa s w&l

Blank spaces and blank pages are provided in the
question paper for your rough work. No additional sheets
will be provided for rough work.

4 PRI, ey S, <t A, Wgs Hd, Phegeiey,
JUBRYT TVeTT ey H ST E B |

Blank papers, clipboards, log tables, slide rules,
calculators, cameras, cellular phones, pagers and
electronic gadgets are NOT allowed inside the
examination hall..

5. 34 QR & s 7o 1R &Y 77 w1 H ST 1
IR et TR faRaY | :

Write your name and roll number in the space provided
on the back cover of this booklet.

6. Ul % SR R U R SHHIRAT U Q-9
P IR BTN, S e ¥ I s, ) W
St | gl waTia & are Fidere & FST R a1 gE
AT ST AR & | S I8 Hef-wired affedifded Reara
ofie (3N.31R.TH., ORS) ¥, WY frdlerds gRT a0 o ot
ST | T U g T 3 a1E 37O AT o Sff et
g1

Answers to the questions and personal details are to
be filled on a two-part carbon-less paper, which is
provided separately. These parts should only be
separated at the end of the examination when
instructed by the invigilator. The upper sheet is a
machine-gradable Objective Response Sheet (ORS)
which will be retained by the invigilator. You will be
allowed to take away the bottom sheet at the end of
the examination. ’

7. S e 5 % Gergell (BUBBLES) BY BT dfeT Wise
s WX frenE &9 Wil |

“Using a black bal! point pen darken the bubbles
on the upper original sheet. Apply sufficient};

pressure so that the impression is created on the
bottom duplicate sheet.

DO NOT BREAK THE K] WITHOUT BEING

8 :;Lamm (ORS) a1 5 gRe®T # -6 / g T
|

DO NOT TAMPER WITH/MUTILATE THE ORS OR
THE BUOKLET.

I 44 TS € 3R Gt 60 T SR ITH IR fAped
N Y ug o goa & | wfl Tl & a4 A gY
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On breaking the seals of the booklet check that it
contains 44 pages and all the 60 questions and
corresponding answer choices are legible. Read
carefully the instruction printed at the beginning of each
section.
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B. Filling the right part of the ORS

The ORS also has a CODE printed on its left and right
parts:
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qRe®T U7 BY Bre & WHH & & ol iRy wre
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Check that the CODE printed on the ORS (on bot
sheets) is the same as thati on this booklet and put
your signature affirming that you have verified this.
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SECTION -1 : (Only One optioh correct Type)
GUS — 1 : (bddl TP Aa! fAdey UhR)

This section contains 10 multiple choice questions. Each question has four choices (A),
(B), (C) and (D) out of which ONLY ONE is correct. -

T VS H 10 FFREA T & | TAS 7T J AR e (A), (8), (C) 3R (D) €, R

¥ P Uh Fal g |

1. A pulse of light of duration 100 ns is absorbed completely by a small object initially at
rest. Power of the pulse is 30 mW and the speed of light is 3 x 108 ms~!. The final

~momentum of the object is ‘ ‘

(A) 0.3 x 1017 kg ms™" . (BLAT0x 10" Wkgms

(C) 3.0 x 10717 kg ms™" (D) 9.0x 107" kgms
R
waﬁéaﬁﬁﬁwﬁﬁ?mmwﬁﬁwaﬁloonsaﬁwmaﬁ

qﬁammsﬁﬁﬁmﬁlmaﬁwﬁﬁmmW%awaﬁw%/

3x 108 ms! & 1 %G P 3ifer WA & W
(A) 0.3 x 107" kg ms™! (B) 1.0x 1077 kg ms™
(C) 3.0x 1077 kg ms™ ' (D) 9.0 x 10717 kg ms~

 Space for Rough Work / 4 %14 % fT &I
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[ PHYsICS .

2. One end of a horizontal thick copper wire of length 2L and radius 2R is welded to an
end of another horizontal thin copper wire of length L and radius R. When the
arrangement is stretched by applying forces at two ends, the ratio of the elongation in
the thin wire to that in the thick wire is |

(A) 0.25 0.50 (C) 2.00 (D) 4.00
v 2L TS @ 2R TS F AR AR aR % TE RR @1 L o 9 R o
a1 o Tae AT AR W AT & gRT Sl T ¥ | $6 g & < R
1% T AR M Ol & | Ude g "I ari 7 Seigfy @1 srgud e R
(A) 025 (B) 0.50 (C) 2.00 (D) 4.00

3. The work done on a particle of mass m by a force, Kj-— x2 B U A |
(x +y )3 (x"+y%)

(K being a constant of appropriate dimensions), when the particle is taken from the
point (a, 0) to the point (0, a) along a circular path of radius a about the origin in the

x-y plane is
A 2K7 é K
W — B®) -

L
© 5 @6

WWK{( yg/zj}(KWF%ﬁmWﬁwg),Wm

x2+y2)mi+(x2+y2) _ ‘
S % B B (g, 0) Rg A (0, ) Rg % TP o Browm & ww & W A
ST &, R F xoy qd BT A g ® | 5 9l gRT fhar a1 B e 8

‘ . 2Km K
AT | B

2‘a  -

Space for Rough Work / %<2t 14 %ﬁfﬂ,‘@l‘ﬁ :




| PHYSICS |

Two rectangular blocks, having identical dimensions, can be arranged either in
configuration I or in configuration II as shown in the figure. One of the blocks has

thermal conductivity k and the other 2x. The temperature difference between the

ends along the x-axis is the same in.both the configurations. it takes 9 s to transport

a certain amount of heat from the hot end to the cold end in the configuration I. The

time to transport the same amount of heat in the configuration II is _ ‘

<) T AR TR B qur REEER @ R 1R 1§ eaRe
a1 T & | ehl B S AADAT k G 2k & | A A F 130T & )
BRI W A B qwR GHE & | BRI 1, S @ ve PEd /e R
BR 4 9 BR TP AT 3§ 95 okl @ | A= 11 #, 9919 A5 @ FH F

Configuration II

Configuration I [CREPI
fa=ame 1
2K
? K 2K K




[ PHYSICS .|

5. Aray of light travelling in the direction %(z’ﬂﬁ}) is incident on a planev mirror. After

reflection, it travels along the direction —2-( -3 j) The angle of mcudence is

oy 300 (B) 45° ©) 60° (D) 75°
e GAdd UV TR MUy WebTel fhRor Yy faem %(hﬁ])% | WradT &

are et feem L7 -35) &) el & 1 fnRn a1 oo o @

(A) 30° (B) 45° (C) 60° D) 75° |

6. The diameter of a cylinder is measured using a Vernier caliipers with no zero error. It ;
' is found that the zero of the Vernier scale lies between 5.10 cm and 5.15 cm of the ;
main scale. The Vernier scale has 50 divisions equivalent to 2.45 cm. The 24" |
division of the Vernier scale exactly coincides with one of the main scale divisions.
The diameter of the cylinder is

(A) 5112 cm (B) 5.1_24cm (C) 5.136 cm (D) 5.148 cm

O T B1 A AU % Ay g e IRT wE afR St @1 SudnT g
T | A & R IR Y @ g, g R 5.0 em SR 5.15cm &
dra & U ofer ¥ | 9FRR 9EE % 50 W 245 om & g & | 39 af R A
maﬁzﬁwaﬁh)nmg@ﬁﬂﬁéswmﬁmwmﬁlémaﬂ
A

(A) 5 112 cm- i (B) S5.124cm ©) 5.136 o/ f]»(,D')" 5148 cm

| Space for Rough Work / Eﬁﬁ?ﬁ'ﬂ‘m
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| PHYSICS |

Two non-reactive monoatomic ideal gases have their atomic masses in the ratio
2 : 3. The ratio of their partial pressures, when enclosed in a vessel kept at a
constant temperature, is 4 : 3. The ratio of their densities is

(A) 1:4 B) 1:2 (C) 6:9 M9

<) STl Y- IRATLE aarel AT BT ORAIY AN 2:3 & U W |
wa&ﬁwﬁwﬁaaﬁaﬁqﬁa@mmﬁ,wmaﬁmwm
U 4:3 & | S OV T U &

(A) 1:4 (B) 1:2 (C) 6:9 (D) 8:9

In the Young’s double slit experiment using a monochromatic light of wavelength 1, ‘

the path differerice (in terms of an integer 1) corresponding to any point having half ‘

the peak intensity is %(}Lﬁo{m“ . @ | (
(A) (2n+ 1)f“- B) (2n+ 1)i (Mn + 1)11- (D) (2n+ 1)i
v 2 4 o 8 16

ve 3 fRere v ¥ . i & el s @1 g fear o @ 1%
fog @1 S W g @1 digar Rrer digen o1 ol €, vorsR ¥ Qe 2 &
wei f |

W et @ e @ et 0 eend

| . ‘Spac_e}for Rough Work/ﬁﬁ%ﬁf@@ﬁ' B »:‘ 0 ' -
N | 9 /é%

&)97/
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e M0 | PHYSICS -

9. The image of an object, formed by a plano-convex lens at a distance of 8 m behind
the lens, is real and is one-third the size of the object. The wavelength of light inside
2 :
- the lens is 3 times the wavelength in free space. The radius of the curved surface
of the lens is »

(A«)/lm (B) 2m (C) 3m (D) 6m

T WA S O Yo R SRR o 8 m @Y S & W e ae &
ST w1 T REE & | o % s g A A P @ aended @ 3
T ¥ | o F el afha g @) gghar 3 §

(A 1m (B) 2m (C) 3m (D) 6m

10. - A particle of mass m is projected from the ground with an initial speed u, at an angle

« with the horizontal. At the highest point of its trajectory, it makes a completely
inelastic collision with another identical particle, which was thrown vertically upward

from the ground with the same initial speed u,. The angle that the composite system
makes with the horizontal immediately after the collision is

Wi e © 77° © 3

TPH m S B B B GRS T u, A AT A oD W YeIfid fear Sirdr
T | I8 BV Y8W U¥ & Iaad g W VS GHE SHHM b B0 $ AR goia:
I HUE PRAAT T, aﬁ%gaaﬁmmﬁﬁnﬁwwﬂzﬁvﬁruoﬁ
'_WIWWIW%WW?WWW@WWWH

W <B>f~'_sz’ @ -:;1<D> Eit

Space for Rough Work / ﬁ Eﬂf %‘fﬁq‘
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|_PHysics )

SECTION - 2 : (One or more options correct Type)
Us — 2 : (Th T Afdrep At fadhed yapr)

This section contains 5 multiple choice questions. Each question has four choices (A),
(B), (C) and (D) out of which ONE or MORE are correct. '

21 s § 5 agfawer e & IWW‘?WW(A);(B), (C) 3R (D) &, R
A T AT il wE E | |

11. A particle of mass M and positive charge O, moving with a constant velocity
i, = 4ims™, enters a region of uniform static magnetic field normal to the x-y plane.

The region of the magnetic field extends from x =0 to x= L for all values of y. After

passing through this region, the particle emerges on the other side after 10

milliseconds with a velocity i, = 2(J§f + ]) ms~' . The correct statement(s) is (are)

(A) The direction of the magnetic field is —z direction.

Mhe direction of the magnetic field is +z direction. ﬁ7 o o M)

50z M
—/)/ﬁ’ he magmtude of the magnetlc fleld units. .

30
00x M

30
UH M S QT Q O AU B B, W 4, =4ims” B YHEAE 9T A
Tyeie &, THEHM ReRr Yuaig & % ydw exal &1 a8 499 87 xy ad B
fCiIad & TAT THHI [N &5 x=0 W x=L TP UAb y & 91 & U & |
__svaaﬁaéaﬁ%wmﬁaﬁ@mﬁwwwﬁaﬂf“
-»_2(Iz¢1)ms‘avﬁmﬁm%|ﬂﬁwé/% .
(A) e e AT
(8) YaPT &F +z R AT 1

(C) ga’qﬁa SERCARIRIU SOEM

: 1
(D) The magnitude of the magnetic field is units.

wEE f’/?//%.y}é» .
(D) aaaﬂaa#srwqﬁqm ?‘,";QM s_?m‘s“é"'l | m

Space for ROUQh Work / ES"QE?I'& %fﬂvw




[ PHYSICS" |

12. Two non-conducting solid spheres of radii R and 2R, having uniform volume charge
densities p, and p, respectively, touch each other. The net electric field at a distance

2R from the centre of the smaller sphere, along the line joining the centres of the

P : |
| spheres, is zero. The ratio ;: can be ‘
| | ‘
v - . 2 \ |

1 - @/4~ @/%5 @@' ~ @
X L |
&1 R @ 2R Proa1 aret orared SIM Meidl Bl N W A p, Tl p, THAATT

§ ToRd g€ Y@ @il TR & | 39 X W B Med H b F 2R T W |

e faga & Y ® |aaa§ma%wrmaﬁﬂm%:

. ' 32
(A) -4 ®) ~53

32 , ;
© 53 (D) 4 - _g

Space for Rough Work / Fed i & T =
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_PHYSICS |

13. A solid sphere of radius R and density p is attached to one end of a mass-less spring
of force constant k. The other end of the spring is connected to another solid sphere
of radius R and density 3p. The complete arrangement is placed in a liquid of density

2pAand is allowed to reach equilibrium. The correct statement(s) is (are)

. 4rR’pg
(A) the net elongation of the spring'is 3k

87R’pg
(B) the net elongation of the springis — 5

(C) the light sphere is partially submerged.

(D) the light sphere is completely submerged.

T 3991 R 9 6T p dTel B Teid Bl U g9 ed B & R A
SST T ' | g R @1 g7 FEae k€ S R RR @ g o
T W ST AT @ e B R 9 '@ 3p € | Ot e @Y 2p 999 &
&9 vEl o aﬁvwﬁmmwﬁqga#%mwﬁ | &)y BrE

47zR pg

(A) R & we Sufgly %I

(B) T @ ve qedafy —5 87[Rpg g |

(C) mmwﬁmwﬁ@‘g’mﬁl

(D) EFEBT Thazr Tf‘r m @f g@n "g'?ﬂT T

“space fqr Rou‘gh Work /a»?r}a?réésfv—rqw
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( PHYsiCS |

14. In the circuit shown in the figure, there are two parallel plate capacitors each of
capacitance C. The switch S, is pressed first to fully charge the capacitor C; and

then released. The switch S, is then pressed to charge the capacitor C,. After some
time, S, is released and then S is pressed. After some time,
(A) the charge on the upper plate of C, is 2CV/,

(Mhe charge on the upper plate of C; is CVO.

(C)_Afie charge on the upper plate of C, is 0. C 3}/ g _Q/C'“W/O
( e charge on the upper plate of C, is — CV,,. o 0 (o {
-~ Gy | i
Sp_ Sy 2 - ;
| y0ro <L |
rey Aw L g ;

2Vy e ;—-y —qﬁ gV |

Ry & <o gRUY F. @) GEERR @ arel duiEl § 9w @ eikal € ¥
g § R 5, @) qamn ol § @i SR ¢ i wY @ Jmafie & W |
$HF 919 S, aﬁ@ﬁ@ﬁmm%‘flmqﬂaﬂmﬁac ®) AR B &
o Rermr S, B 9T ST & | $9 GHE & 918 S, 1 B e orar § @@ S,
(A) caﬁwﬁ@ewzcrf SN I '
(B) C, B YN WT W CV, AT |

(C) caﬁmlﬁamsﬁm%l

(D) 'c aﬁwﬁrxﬁew CVW%I’

Space for Rough Work /ﬁ 'é'ﬁﬂi %‘a‘ﬁ’l‘Q‘W
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[_PHYSICS |

15. A horizontal stretched string, fixed at two ends, is vibrating in its fifth harmonic
according to the equation, y(x, 7) = (0.01 m) sin [(62.8 m™) x] cos [(628 s~1)].
Assuming 7= 3.14, the correct statement(s) is (are)

(A) The number of nodes is 5.

(B) The length of the string is 0.25 m.

(C) The maximum displacement of the midpoint of the string, from its equilibrium.
position is 0.01 m.

(D) The fundamental frequency is 100 Hz.

y(x, 1) = (0.01 m) sin [(62.8 m™) x] ;os [(628 s~')f] ERT HfUa & W& & | Afe
o= 3.14 91 ST 9 e weert et 7

(A) forede] & e s &

(B) SR & TS 0.25m ¥ | - .

(C) Wﬂ@@ﬁ%ﬁ@ﬁgmaﬁwﬁmﬁonlm% |
(D),ﬂaa@%rloom%{ |

Space for Rough Work / ﬁ%w%mw




Gus — 3 : (YUifds A |E YY)

This section contains 5 questions. The answer to each question is a single digit integer,

ranging from 0 to 9 (both inclusive).

T @Us H 54U & | J&% U9 BT SAR 0 ¥ 9 dd (S W) & dIF DI Teber
3wk ol & |

16. A particle of mass 0.2 kg is moving in one dimension under a force that delivers a
constant power 0.5 W to the particle. If the initial speed (in ms~1) of the particle is |
zero, the speed (in ms™1) after 5 s is |
TF 0.2 kg S BT B §H g B I, S 6 ¢ g afe 0.5 e
@1 a1 ¥, uw e § iehe € | Al s 9 uRiYe Tl g9 ' 99 55 919

TP T (ms~1 ) Ui

Space for Rough Work / wed H & o0 w I ‘




17.

18.

| PHYSICS |

A uniform circular disc of mass 50 kg and radius 0.4 m is rotating with an angular
velocity of 10 rad s~! about its own axis, which is vertical. Two uniform circular rings,
each of mass 6.25 kg and radius 0.2 m, are gently placed symmetrically on the disc
in such a manner that they are touching each other along the axis of the disc and are
horizontal. Assume that the friction is large enough such that the rings are at rest
relative to the disc and the systemn rotates about the original axis. The new angular
velocity (in rad s71) of the system is '

T 50 kg 9 0.4 m 351 & (oM @ ol Seater erer & f1E 10 rad s
P 37/ g I ¥ | N e JReR ool 4R W v W) wEfid aid
¥ TP gAY Bl B §Y 39 YR R 99 W W o & 5 ¥ Rvw ¥ omt @1
At el Y | URT oo BT ST 625 kg T BT 02 m ¥ | 59 FieTd @
AT PO AT (rad s~ 9) =7 8 (@A AR 75 %6 vaq soa & g @i
m%%lswaema?eﬁaﬂﬁ&wnﬁr?ﬁ%sﬁ?ﬁmﬂawww
X BT ®)

A freshly prepared sample of a radioisotope of half-life 1386 s has activity 103
disintegrations per second Given that In 2= 0.693, the fractlon of the initial number

of nuclei (expressed in nearest mteger percentage) that will decay in the f|rst 80 s

after preparatlon of the sample is

w@?aéuwﬁmgan%%@rmau I, fora@ ar-ary 1386 s ®, @

- fradr 103 faged ofy. Qo . laﬁmz—%%% GERSE 8osnﬁraﬁa

"""'Wammﬁaﬁaﬁe@mﬁmm(mﬁﬁwwﬁﬁﬁ

o Space for Rough Worklﬁm‘%fﬁqw _

e*_f’@?’-@.@cc -
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( PHYsiCS |

19. A bob of mass m, suspended by a string of length /, is given a minimum velocity

20.

required to complete a full circle in the vertical plane. At the highest point, it collides

‘elastically with another bob of mass m suspended by a string of length [,, which is

initially at rest. Both the strings are mass-less and inextensible. If the second bob,
after collision acquires the minimum speed required to complete a full circle in the
, ; _

vertical plane, the ratio 7 is
Th m SEH B NEE [, qES B SN W T g T 1 g U a9 fa
ST & SN foF FafeR a9 § e 99 YT RM b A7 REAaE § | U Seaad

fig W g Mol g i GEA ¥ WD A HIRY FHE FYAl T | I
Mo [, TS B SN Q4 AeH g ¥ A UKW H ey W ¥ |aﬁ'ﬂT

SR gem fea 9 afday € la%m%m*gﬁﬁmzﬁ’réﬁ‘[vﬁ

W%ﬁ#ﬁ%vﬁﬁ?maﬂﬁgdfﬁgmm%qw ‘,aa]m

3173'%%:

The work functions of Silver and Sodium are 4.6 and 2.3 eV, respectively. The ratio of

| the slope of the stopplng potential versus frequency plot for Silver to that of Sodium

mﬁ@qﬁﬁwéﬁmwm 46T 23 eV & laﬁ*"aw%mévﬁﬁ&ﬁ

ﬁrwaqaan%?é’laum%mwa—gw%
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SECTION — 1 : (Only One option correct Type)
WIS - 1 : (HIA T LI AFHeT THR)

This section contains 10 multiple choice questions. Each question has four choices (A),
(B}, (C) and (D) out of which ONLY ONE is correct.

39 @S 7 10 Fgfaced ueT © | g T3 A IR [3de (A), (B), (C) 3R (D) &, NTH g
q &I U Hal © | | | |

21. Upon treatment with ammoniacal H,S, the metal ion tﬁat precipitates as a sulfide is

(A) Fe(Ill) | (B) AI(III)

(C) Mg(iD) (DyZn(IT)
e H,S % e il oY T RN U1 SR P s WehTss % U § e
(A) Fe(Ill) | (B) AIII)

(C) Mg (D) Zn()

Space for Rough Work / WW%WW

U




| CHEMISTRY |

22. In the reaction,
P+Q——> R+S

the time taken for 75% reaction of P is twice the time taken for 50% reaction of P.
The concentration of Q varies with reaction time as shown in the figure. The overall

order of the reaction is ‘
(A 2
€ o0

[0l

(0]
o= arfdfepan,
P+Q — R+S
F P A 75% Aftfear &1 wwa P & 50% afufrar ¥ fag 19 w9g ) e | S R
Q & fafy= Aigan, aifafear wag o R i # awfE E ¥ | 39 afufh o v eIt ©
(A) 2 \ ‘ | S (=) B :
©@o . ©>1

- 2 _SPa‘.:é.fv“?r_, Rough Work/mm%mw . :




CHEMIST

C@fv

23. Consider the following complex ions, P, Q and R.
P=[FeF]", Q=[V(H,0)]" and R = [Fe(H,0),)*".

The correct order of the complex ions, according to their spin-only magnetic moment

values (in B.M.) is

(A) R<Q<P (BYO<R<P
(©) R<P<Q (D) Q<P<R

| Preffed W ol P, @ v R W RER IR

P=[FeF]", Q=[V(H,0)]" 8RR = [Fe(H,0),*".
WWW@&WWWWWW(B.M%%WW%
(A) R<Q<P : (8) Q<R<P

© R<P<Q (D) Q<P<R

Space for Rough Work / 3 &1 & fe1q wIr=




 CHEMISTRY]

24. The arrangement of X~ ions around A" ion in solid AX is given in the figure (not s

- drawn to scale). if the radius of X" is 250 pm, the radius of A'is

(A) 104 pm (B\)_/LZ(pm (C) 183 pm (D) 57 pm

UH S AX A A" oA W X R @ e (W) AogEe § T8 R d @ g

g IaﬁX“mmzsopm%ﬂaA*aﬁaﬁa‘wm#ﬂ

(A) 104 pm (B) 125 pm (C) 183 pm (D) 5'7pm

Space for Rough Work / %=a &/ & fer ==

ST




| [CHEMISTRY]. ‘
25. Concentrated nitric acid, upon long standing, turns yellow-brown due to the formation of 3
(A) NO (B) NO, (€) M0 (D) N,
ATE AT o BT HTH) T 1S G 7 F uRaf S R g < e ¥ 2

(A) NO . (B) NO, C) N,0 (D) N,0,

26. The compound that does NOT }Iiberate CO,, on treatment with aqueous sodium
bicarbonate sdlution, is . 4 09,r Nah( o
(A) Benzoic acid (B) Benzenesulphonic acid
(C) Salicylic acid Mrbolic acid (Phenol)
AfE N ST AETH IgPET fAedd gRT AHHa = CO, adl <ar 8, 95 &

(A) TP 3 . (B) I=IemIEG o
(C) wfafafas s | (D) FRATH 3 (BT

27. Sulfide ores are common for the metals
(A) _Ag CuandPb  (B) Ag Cuand Sn (C) Ag Mgand Pb (D) Al CuandPb

(M) g CusiRPb  (B) Ag CudiRSn (C) Ag MgaiRPh (O) ALCusiNPh

Space for Rough Work /WW%WW




(CHEMISTRY -

28. Methylené blue, from its aqueous solution, is adsorbed on activated charcoal at

25 °C. For this process, the correct statement is

(A) The adsorption requires activation at 25 °C.
(Wadsorptlon is accompanied by a decrease In enthalpy_/.//
(C) The adsorption increase_s with increase of temperature.

(D) The adsorption is irreversible.

25°CWW@WW%WQWWWWWW
T | 39 WA % o W B §

(A) mﬂsﬁwzﬁzsmwvﬁﬁwaﬁaﬂmmﬁ%l
(B) arfereimer wshH # TRt wedft © |

(C) aifergior ayH S W g8l © |

(D) aHfereior argepTlE & |

Space for Rough Work /WW%‘WW
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30.

(CHEMISTRY

29. KIin acetone, undergoes Sy, 2 reaction with each of P, 0, R and S. The rates of the

reaction vary as /@,@ @ @ o @ g”V

| HsC—C! >—CI | ;»\/\C,
P g R A B
AXP>0>R>S B) S>P>R>Q
(CYP>R>0>S (D) R>P>S5>Q
U A KT & fergs ot uldd P, Q,Rsﬁ?Sﬁ?WQJWWSZGTWﬁ%!
<7 s & ox1 % uRadT. &1 9 B & '
. O
‘ : _Cl
H4C~Cl >—cx X¢
P ) R S |
(A) P>Q>R>S = (B) S>P>R>Q
(C) P>R>0>S | (D) R>P>8>Q

The standard enthalpies of formation of CO,(g), H,0(l) and glucose(s) at 25 °C are

— 400 kJ/mol, —300 kJ/mol and ~1300 kJ/mol, respectively. The standard enthalpy of
combustion per gram of glucose at 25 °C is

(A) +2900 &J (B) -2900 kJ

(C) —-16.11kJ (DLA416.11 &J

- CO\®), HO(Z)HQHW(BW P fawes 79e WS 25 °C ) B — 400 kA,
=300 kA 3R noouﬁra |mmwﬁ25°cwaﬁwqw&
U(A) 42900 kJ L (B) —-2900°kJ . : -

-:,(C) —161]k] T (D) +16.11KT.

SpaceforRoughWork/E’%W%fﬁ'QW o ‘ .
é@@»ﬂgwﬁkfa °6Wﬂ6~
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SECTION - 2 : (One or more options correct Type) i
!
QUS — 2 : (T T A [t faded uarR) |

This section confains 5 multiple choice questions. Ea'chquestion has four choices (A), |
(B), (C) and (D) out of which ONE or MORE are correct. ‘

3 S W 5 qgfamer we € |q—a?ﬁm=fﬁawﬁ—cﬁwm) (B), (C) 3R (D) &,
@f@maﬁ‘cﬁﬂ‘aﬁ% |

31. The hyperconjugative stabilities of tert-butyl cation and 2-butene, respectively, are

due to

(A) o—p (empty) and c—7* électron delocalisations. | I
(B) o—c* and s—= electron delocalisations. |
(C) o—p (filled) and o—7 electron delocalisations.
(D) p (filled)—>c* and c—=* electron delocalisations.
teﬁ—@{%ﬁﬂﬂmﬁaﬁvza{ﬁ?m;ﬁmﬁﬂwﬁﬁmﬁﬁ?ﬁ%ﬁ%‘
(A) o-p RF) R o7 T R
(B) 0" 3R oo Saag Ao
(C) o—p (IRT) AR o7 FeAFI faveriaRor
(0) p(ERA)0" SR o T R

™ Space for Rough Work | e 14 3 ferg 2t
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e

32. Benzene and naphthalene form an ideal solution at room temperature. For this

process, the true statement(s) is(are)

(A‘) AG is positive o (B) ASs N is positive
(%Ssurro{mdings - O . . : i@/AH = 0

WWWWWW@WWW% | 39 Uspd & R 92

TR ¥ (8)
(A) AG sTHE ¥ | . (B)  AS g TIETD ¥ |
(C) AS(qﬁ‘c‘m):O (D) AH=0

Space for Rough Work / %<d &/ %%Q'&TFI‘
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(CHEMISTRY

33. Among P, @, R and §, the aromatic compound(s) is/are

(A) P (B) ¢ C) R D) 3

\

& AICly

¥
~

A |
@‘ NaH 0
@N}rkﬁ@ \\<——>]/ (N H4)2C03>

O O 100-115 °C |
v 0 ' |
G HCl g - f

P, 0, R3R § 4 Whfew diffs 28

wmwr  ®Ee  ©R  OS

T Space for Rough Work / &ea 14 % g ®




34.

35.

(CHEMISTRY |

The initial rate of hydrolysis of methyl acetate (1M) by a weak acid (HA, 1M) is
1/100™ of that of a strong acid KHX 1M), at 25 °C. The K of HA is

(A) 1x 104 B) 1x10S (C) 1x107 ' (D) 1x1073
Ao wiRe (1M) B géa ol (HA, 1M) gRT Sl g @l aRfaE % 25 °C W
vae o (HX, 1M) @ o 3 1/100 ¥ | HA % K, &1 qeuie &

(A) 1x10° (B) 1x10° (C) 1x10¢ (D) 1x1073

The pair(s) of coordination complexesfions exhibiting the same kind of isomerism
is(are) - |

(ALACrH(NH,)sCIICl, and [CH(NH,),CL,]CI

(B) [Co(NH,),CL,]" and [P{(NH,),(H,0)CI]*

(C) CoBrZClz]z"and [PtBr,CLJ*

(D) [PUNH,),(NO,)ICI and [P{NH,),CIIBr

U ESTs DR ¥ o T § S v @ TR A weaae o €, 98
(A)  [Cr(NH,)sCICL, 3R [CHNH,),CLICI

(B) [Co(NH,),CL,]" 3R [P{NH,),(H,0)CI)*

(C) - [CoBr,CL}> 3R [PtBr,CL)>

 '(D)f'»iPé(NHs)g(No3'>]Cl'sﬁ‘\f[P:{NH3)3CZ]B;~' o

Space for Rough Work / 'cb‘c‘i}w #F T
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(CHEMISTRY)

SECTION — 3 : (Integer value correct Type)
Gog - 3 : (QUifes A Wel UHKR)

This section contains 5 quest}ions. The answer to each question is a single digit integer,
ranging from 0 to 9 (both inclusive). '
39 @ue 4 5 U ¥ | TAF U BT S 0 Q9 I (S IMBHSA) F & BT bl

36. EDTA* is ethylenediaminetetraacetate ion. The total number of N~-Co—(C bond
angles in [Co(EDTA)]'~ complex ion is : ' ,\0 - (40 ‘

EDTA* TR Sy egmefice o ¥ | {igd o [Co(EDTA)]'™ # N=Co-0

37. The total number of lone-pairs of electrons in melamine is
R WY SUCTRI SOEEl B BT g @) Fol Al ¥
Space for Rough Work / mm%fﬂ'@m
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| CHEMISTRY |

38. A tetrapeptide has -COOH gvroup'on alanine. This produces glycine (Gly), valine
(val), phenyl alanine (Phe) and alanine (Ala), on complete h'ydro!ysis For this
tetrapeptide, the number of possible sequences (pnmary structures) wnth ~NH, group
attached to a chiral center is _ _,

U TEUEES d ToHiH )R ~COOH T4 fermd & | 396 Aqol Sial 3igee gR1 7@
(Gly), &9 (Val), Bfa Vet (Phe) e Vet (Ala) U B & | 39 CoN®EmEs 3
e aee orafie wRaeel) @ dwn aa] e -NVH, 90 feva ¥z ¥
AR &

39. The atomic masses of He and Ne are 4 and 20 a.m.u., respectively. Thevalue of the
de Broglie wavelength of He gas at —73 °C is “M” times that of the de Brogiie
wavelength of Ne at 727 °C. M is |

Heaﬁ?Ne‘%mmﬁm-Aaﬁ”anmﬁ%lHeﬁvaﬁ—73°CWé’eﬁToﬁ
T TE Ned) 727°C RIS T o8 @ “M” T & | M P 54 &

40. The total number of carboxylic acid groups in the productP is

WPﬁTWWWEﬂWW%

1. Hy0%, A T -
T . 2.03 0
o. © 3 Hzoz. o

Space for Rough Work / ﬁiﬁlﬁ%ﬁ-{qw




SECTION - 1 : (Only One option correct Type)
. WU -1 : (I TP Ael fdmer UaR)

This section contains 10 multiple choice questions. Each question has four chonces (A),
(B). (C) and (D) out of which ONLY ONE is correct.

T WS H 10 Igfeey weT € lmwﬁaﬁﬁ"ﬁqm (B), (C)Sﬁ?(D)ﬁ o
§ HIATH Fel © |

44. A curve passes through the point (1 ,—) L et the slope of the curve at each point

(x,y) be f + sec g‘), x > 0. Then the equation of the curve is

(/i\)/sin eéj =log x + % | | (B) cosec (‘S =logx + 2
v 5 . !
(C) sec (‘)‘CXj =logx+2 | (D) cos @CZ) =logx + %

Q?b"a?b'ﬁ{*_g'(l%j { IoRdl B 1Wﬁ7m®§(x,y)'wwﬁm

§+sec(§),x>0 ¥, I9 gp BT AHIHR T

: 1 y)
{A) sin @) =logx+3 (B) cosec &leogxfz
(C) sec o =logx+2 _ PO (D) cos —logx+ 2

. Space for Rough Work/ﬁﬁfﬁ%%‘f{w I

BT




ad;*ﬂ”\" ] Pt WWL/

X iy Ry - 95(9 — 5[ MATHEMATIES
Iy T 1y 3D ]
4 Perpendiculars are drawn from pomts on the hne x; 2=L_+1—1:§‘ tczL ;/hQ? plane
x+ y+z—3 The feet of perpendlculars ||e on the !me ' A N _
x/ y=1_z-2 %/ C% | x_y-1_2z-2 53,44—
A 5="% =13 tSh B =TT T
x y=1 z-2 /S)A/g)')‘(@; x y—1 z-2 > &;“(]")9(3.
A AN N ) 3 A At SR ‘\___’/Q%(Z/
© T3 \IS B) 3= =T na A )
Hﬂx+y+z—3qqtmx+2 _:1~§ ﬁ@ﬁﬁﬁ?ﬁ%c%QSM\Mdgl |
N D
rr-aTe B Y W R r?r)m_/“‘p’%D ’9&)) @@;@
1L~ 2
x_y=1_z-=2 37 BT syl 22 02 REYH
(A) 5: 8 :—13 )(\ (B) 2: 3.= =5 \a’/’f\’-) "g’h'/,)
L ' L hdy TR
x_y=1_z-2 ki x_y-1i_z=2 - |
©) 2773 =3 = P0 ;=5 =5, »%Rdﬂaﬁzj_
NP M A =
| 3K FNZ S I
W “I'h o

43.

(A a+b-c>0 G:W b
(C) a_—fb,+c>0 Q‘b"\

For a> b > ¢ >0, the distance between 1, 1) and the poi\“gtﬂ}gf intersectio?r?\\ ofd
lines ax+by +c=0 and bx+ay+c=0 islessthan2:/2. Then 0P AT 7
A) a+b-c>0 Gn&BC 2> @) g-b+c<0 R

;r(.\ ' (4/ (_/ﬁ
(C) a-b+c>0 oM _ @?rm DY arb-c<0

C

al>b>c>0$1:c7ﬂr (1,1 HW@T%by+C”Oabx+ay+c—03?uﬁ?§3
ﬁfg’é?'eﬁ'aaﬁ?gﬁzxf @rzﬁq% GEA %

by

1 ﬂ}¢+
”%/ -

”mnmmumn mu@:,;:



[ MATHEMATICS |

0
L
44. The area enclosed by the curves y = sin x + ¢0s X and y = |cos x — sin x| over the

interval [0 , 721 is ~ vy
~T)

) 4(\2-1) B) n2(H2-1) © 2(\ﬁ+1) D) 22 ({2+1)

GI'EWIG 0, ]Wﬂ?ﬁy*cmx-kcosx?‘f?ﬂy lcos x — smxIQT\’TQlia@ W%\*

  4(\/5—1) ® n2@{2-1) © 2(2+1) | D) 22(\2+1)

(st NNy aditen

1

N @ H/Z/ ;
QMS) RNl 9"‘\> % o %) 4,\!)7{ ‘
1

\

. Four persons independently soive a certain problem correctly with probabilities

1 3 1 1
=, 7,7,a- 1hen the probabahty that the’ problem IS solved correctly by at least one

N X 2°4°4°8"

v of them is \\ggk (’%/ Ve . + % v z' - 3 S
W 235 7 a7 253 1) k7
A\ W56 B) 256 Ms - e

&Waﬂ%ﬁmﬁmﬂwwﬁmﬁn@%%i%%wa%m

\b . _
wear g .
S 35 21
NG ® 256y xx B 35
A SpaceforRoughWork/ﬁm%fﬁQW o e \
R . =~ #An~ (0 /@g

}mwmm-J o ,\5*30»9
P/\/ -, '» /}/




46.

47.

C(x = xp)? + (v — yo)* = 42, respectively. If z, = x, + iy, satisfies the equation

)
et}
A F [ MATHEMATICS

Let complex numbers o and '-é-‘ lie on circles (x — xp)> + (¥ — y,)* = r* and

| | v P o)
2 (2 =42 = AW\t : rp,w\qh"? o2 |0
2 =r 2, thenfol = o\ 3G ) P FBer e Y H?’fr\?’”\
g 1 1
w5 ® 3 ©F @ O3
1

Wﬁiﬂﬁ-‘wﬁwﬁraam—:mzqa(x—xo)2+(y_y0)2=r2agn(x_,;o)u
o - y0)2_4r2Wﬁ%§ Iaﬁzo X, +iyoﬂm2|zoz=r

BT &, T Jof = \ ;(} ‘YB/‘W
® 5 e eOF
- \ ?r%

The number of points in (— o0, 00), for Wthh x2 &% sin ﬂ cosx=0,is
(A) 6 | (B) 4 —©) 2 oA

(~ 0, o) H ﬁﬁi’:ﬁ CARECIS mez—xsmx—cosx=0, g
(A) 6 ' B) 4 C) 2 - (D)

Space for Rough Work /Wﬂﬁ%f&mm
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(MATHEMATICS |

1 | .
48. Let f: [‘i, 1}—)1& (the set of all real numbers) be a positive, non-constant and

differentiable function such that f’(x) <2 f(xj and f(%)=1 . Then the value of
L P4 2P(9)
} f(x) dx liesin the mterval K F\ \,g\") L’% o - |
” % ) @ O
A @e-1.20 | \\"“\ 3 B) (e-1,2¢-1) ,

(C)/V—_ . 1)’ Ay \3{/ 7V(D) E} e;‘l]

'Wﬂﬁb‘f [— 1]——)]& (wﬂmﬁ?ﬁm@wmﬂ)wmm

I

o OB Ber & foad ﬁv{ﬁff(x) <2 f(x) <A f@= 1%, aaj f(x) dx
1 7 P SreRTE 8 | "
(A 2e-1,2¢) 8 (B) (e—1,2¢e-1)

olte) o0

. Space for Rough Work / aﬁhﬂﬁ%fﬁ({m
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49,

50.

v , 23 n N
The value ofcot[ T cot™ [14— T 2kj}

wE  oeh @k o

| MATHEMATICS )

= d A A A ’ - A A A
Let PR=3i+j -2k and SQ =i -3j -4k determine diagonals of a parallelogram
) - A A A
PORS and PT=i+2j+3k be another vector. Then the volume of the

VR

paralipleplped determined by the vectors PT PQ and PS is
(A) 5 BLA0 () 10 (D) 30

- N — y .

HET R PR=37 + ) — 2k U1 SQ=i-3) -4k & TR GG PORS ¥ faapol
. -> N w o o

RreiRe exd & ol Pr=7+2] + 3% U@ or AW ¥ | a9 @i pT, PQ ol

PS ERT FEiRa WHiaR Yebeld T SIae & :
A) 5 (B) 20 (C) 10 L0

n=1 k=1

23 25
(A) 53 B) >3

23 n
cot( > cot_](lJr T ZkD BT HE B -
N k= J

n=1

23 25 23 24

MMQ)<% =




| MATHEMATICS |

SECTION - 2 : (One or more options correct Type)
UE — 2 : (T T AfIF Tl fadbey yapR)

|
This section contains 5 multiple choice questions. Each question has four choices (A), : \
(B). (C) and (D) out of which ONE or MORE are correct. |

3 GUE H 5 9gfeed UvT § | U U ¥ AR ey (A), (B), (C)aﬁ?(D)% o
W uE AT e wEl E |

51. Letf(x)=xsin zx,x>0.Then for all natural numbers n, f*(x) vanishes at
1 4
(A) aunique point in the interval (n, n+ 5) L WH“L/

. 1) ww

1
(B) a unique point in the interval (n + 5

%
(C) aunique point in the interval (n, n + 1) \¥ V) &

(D) two points in the interval (n, n + 1) Y ) ' ; ; ‘

Iﬂ":ITJf%fff(x)=xsin7ch,x>O,F1€HT1fﬁ W—Tﬁ?ﬁn?%(’f’(x)ﬁﬁq'\’gﬁm g
(A) W(nw)ﬁwwﬁfgw @ gi

| Y 3D ‘
(B) W(n+%,n+l)ﬁWWf§F§W O ﬂ\/}*‘r & |

- (©) SITRTEA (1, n + 1) F THH T g W
| '(D‘)_’ 3R (n,n + 1) ﬁ aﬁ: ﬁ%’aﬁ tl’\r -

Space for Rough Work/ﬂﬁimﬁ‘ﬁ?mw S : B g




B | [ MATHEMATICS |

52. A rectangular sheet of. fixed périmeter with sides having their lengths in the ratio
8 : 15 is converted into an open rectangular box by folding after removing squares of
equal area from- all fqur corners. If the total area of removed squares is 100, the

resulting box has maximum volume. Then the lengths of the sides of the rectangular

sheet are :
& 247 B) % (W (D) 60 . 1

va fRea R @ qIex B, ST YOI B oAl 8115 F
MR Ut # uRafta fovar smar € 1 afy Frerel 1 o w1 Fa dFwe 100
g, a9 gRUM U &I gdT HEWH & | A9 JARAIGR Aa} Bl YSlsl @i
Al 799 8

A) 24 (B) 32 (C) 45 (D) 60

Space for Rough Work / WW%WW
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[ MATHEMATICS |

53. For3 x 3 matrices M and N, which of the following statement(s) is (are) NOT correct ?

(A) N'MNis symmetric or skew symmetric, according as M is symmetric or skew

symmetric -

it e i e’ Aterrthnn n P

(B) M N—N Mis skew symmetric for all symmetric matrices M and N

(C) M N'is symmetric for all symmetric matrices M and N

(D) (adj M) (adj N) = adj (M N) for all invertible matrices M and N

3% 3 MR M T N & foIg 711 5 9 B U O T8l & (8) 2

(A) MF FfHa I RH-wHHT 89 % AR N MN TEie a1 feE-aafid & |
(B) W G Sl M e N 3 e My - M fawEf ¥

(C) |l TR MRl M A1 N & foy My |49fHd ® |

() i g SegEl M @ N % RN (adj M) (adj N) = adj (M N) |

Space for Rough Work | %= T &% [T ©IF

aiiE |




55.

(A 1056 (B): 1088 o (C) 1120 ”"'-.’,_qu(b‘_').-1‘332 :

[ MATHEMATICS |

L3+ 01+ (=1 +20)] +(4+20k,~0<t<oo
L:(3+25)i +(3+2s)] +(2+s)k,—0<s<o0

Then, the coordinate(s) of the point(s) on /, at a distance of \[1_7 from the point of
intersection of / and /, is (are)

(A) (—Z—%%} (B>.(—1,‘~1,0) © wLy @ ggg}

T X 4, 9 gEfeg & ToR 2, Yl

L+ D7+ (-1+20] + (4 +20k ,—0 <1<
12:(3'_+2s)?+(3+2s)?+(§+s)?c,—oo<s<oo

W oad € |9, [, W Rea g (gl & Fcwie, st v@msi 7 991 1, &
s g A 17 SR wRE @) Fr e @) -

775 - | (178
(A) (g,g,g) B) 1,-1,0)  (©) (1,1, (D) [5,5,5)
4n Kk
LetsS, = 2 (-1) > J2. Then S, can take value(s)
k=1
(A) 1056 (B) 1088 (C) 1120 ) (D) 1332
4n kk+ 1)

IfFﬂﬁﬁS Z(-_l_) S 3 aasﬁmqﬂﬁﬂw%

Space for Rough Work /ﬁm%mw -
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! | ( MATHEMATICS

SECTION - 3 : (Integer value correct Type)
GUs — 3 : (QUITEH A el UHR)
This section contains 5 questions. The answer to each question is a single digit integer,
ranging from 0 to 9 (both inclusive). '

gﬂmﬁsu‘ﬁ% |mwmwoﬁga‘cﬁ(aﬁ=ﬁwﬁa)a%“sﬁafmm
P YUiE T |

e gt A

~ 56. Of the three independent events E,, E, and E;, the probability that only E, occurs is
a, only E, occurs is pand only E, occurs is vy. Let the probability p that none of
events E,, E, or E, occurs satisfy the equations (o —2p) p = ap and B -3y)p =2py.

All the given probabilities are assumed to lie in the interval (0, 1).

Probability of occurrence of £
Probability of occurrence of E,

A9 Ty "eAwRtt £, E, 97 E, § | %ad E, & g1 B WG o €, $Id E,
% e B WG p & T Paet £, & Tt B wRiwmar y & | W R wea
E,E, T E, % q f&f & M 7 ge 9 wlgar p, TR0 (o - 2p) p = ap
AT (B — 3y) p = 2By B I FRA & | Wl WRGAY si=rTet (0, 1) # Rera

E, % O B WiH
| Eﬁﬁaeﬁaﬂmfh‘cﬁ‘m

Then

sp‘ace‘for'hougﬁwor‘k'/maami%%qw .
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( MATHEMATICS |

S 2 2
' ) X
57. A vertical line passing through the point (k, 0) intersects the ellipse —4-+%= 1 at

the points P aﬁd 0. Let the tangents to the ellipse at P and Q meet at the point R.

A(h) and A,= ™" A(h), then

If A(h) = area of the triangle POR, A, = 2<h<l

l/2<h<1

—\%Al—mf
Ry (' O)@WWWWWW y—~1 @1 fRegall P @1 Q
W HEd & lwﬁvﬁfgsﬁpamgwﬁéqaﬁwsﬁ@ﬁﬁiRwﬁmﬁ

& | afe Ah) = BRIST POR B 89, A, = "% A(R) R A= T Ah)

1/2<h<l 12<h<1

8
%‘,aa$Al—8A2=

58. A pack contains n cards numbered from 1 to n. Two consecutive numbered cards are
removed from the pack and the sum of the numbers on the remaining cards is 1224.

If the smaller of the numbers on the removed cards is £, then k—20 =
v T oTS & O s 1 @ n g Bifed § | Q) pnT <emst e B
FE T A Freret A o) § ok sraRne pret A Wit @ A 1224 7 1
;-aﬁﬁwﬁwm‘r@ﬁaﬁ%ﬁgﬁm@ﬁﬁwmk% a9 k- 20=

Space for Rough Work /a?ﬁwé %ﬁ-rqw
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[ MATHEMATICS |

59. Consider the-set of eight vectors V' = {a? + b} +ck: a,b,c e {-1,1} } Three non-
coplanar vectors can be chosen from Vin 2” ways. Then p is
e Afew &1 [T V= {a?+.b}>+cl§:a,b,ce {1, 1}} i | vy 9 d=
AT AT 27 YHR I A ST 9 & | I p $T A § -

nt+5

60. The coefficients of three consecutive terms of (1 +x)° “areintheratio 5:10: 14.

Then n=

(1+x)""° & A HANT T&1 & o1 5:10:14 F agua H & | T4, n =
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Write your Name, Roll No. and the name of centre and
sign with pen in the boxes provided on the right part of
ORS. Do not write any of this anywhere else.
Darken the appropriate bubble UNDER each digit of
your Roll No. in such a way that the impression is
created on the bottom sheet.
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C. Question Paper Format

The question paper consists of three parts (Physics,
Chemistry and Mathematics). Each part consists of
three sections.

(A), (B), (C) 3% (D) € i I v ar il wdt € |

; ; ; 3 AFs Section 1 contains 10 multiple choice questions.

14, G 1 7 10 9gf _g"_‘ g if? e # 3;_@ 37| | Each question has four choices (A), (B), (C) and (D)
(A), (B). (C) ¥R (D) & F774 A Fawt 1@ out of which ONLY ONE is correct. 7

15, @82 H 5 mmg | 8 U1 § IR b9 | Section 2 contains 5 multiple choice questions.

Each question has four choices (A), (B), (C) and (D)
out of which ONE or MORE are correct.

16.

W3 A5 Y | TS YT BT SR 0 9 9 TF (G
o1fiver) & S BT Tl (b1 qUiich & |

Section 3 contains 5 questions. The answer to each
question is a single-digit integer, rangmg from0to 9
(both inclusive).
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D. Marking Scheme

For each question in Section 1, you will be awarded 2
marks if you darken the bubble corresponding to the
carrect answer and zero mark if no bubbles are
darkened. No negative marks will be awarded for
incorrect answers in this section.

. g2 & & Uvd ¥ Fad Wl STRI (X)) arel Wil

gﬂgai(g ol) B Bl A W 4 AF geH 6y

%?ﬂ‘ﬁ goigell STl 78] B W ¥ (0)

wuamﬁmmﬁﬁ | o= ot Rerferdt 3 seomer®
U (-1) 36 UaT fhdl SR |

For each question in Section 2, you will be awarded 4

. marks if you darken all the bubble(s) corresponding

to only the correct answer(s) .and zero mark if no
bubbles-are darkened. In all other cases, minus one
(-1) mark will be awarded.

.
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For each question in Section 3, you will be awarded 4
marks if you darken the bubb(e corresponding to only
the correct answer and-zero mark if no bubbles are
darkened. In all other cases, minus one (-1) mark
will be awarded.

Name of the Candidate Roll Number
SHUBHAM CHMA. 2lo 16 |9

B wf e B v frar ¥ oeiv
1 have read all the instructions and shall
abide by them.

...............................................................................
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| have verified all the information fi lled by |
the candidate®

e & m&r\f

L Signature of the Candidate

Signature of the Invigilator
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